BEREER

1=2904

DOODODPDODDDD

[ P { 330 244 330?
1!
///
i1 =
i =
L
g |
i
g b
D=1999 . o L=2004 . .
| | P
1000 999 i F W ARETAR
W ] — i RV - hEEAR
— — m— (B VY U — ML)
— 0 . —a PAQEEREATIER 8 (/) 72 (KN )
) 3 | 50 |10 | 30 | 50 | 100
H ab | a*b | a-b | a-b| a*b| a+b
e e 20 | 29 | 440 | 40 | 400 | 400 | 400 | 330
23 = R
0 6.L 6L :
BIRBOBE = 244 0 tMIVY - PEEAROBE
£ E RS R EE I%% i # ERRG R B | w&20 &
o = YKK
Bz NEAE BEEEg TJ)L—Ya S ZZER0 FIRST 5 A 8| WLEE
600547 Higtry b £H 20-20 / JDY-AC002, ® fHT-A1




